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e Please check that this question paper contains 12 printed pages.

e (Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

e Please check that this question paper contains 35 questions.

e Please write down the Serial Number of the question before
attempting it.

e 15 minutes time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the
students will read the question paper only and will not write any answer on
the answer-book during this period.
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i) @yt ¥ ST &

(ii) ¥ &I 1-10 % UF 376 & & | 37 o7 & I 20 Ieg) @ 371e% 787 514
T1EY |

(iii) ¥97 GEIT 11 - 20 % 3t 3% & 3 | 57 Fo41 & I 40 5] @ 37fe% 787 517
1Y |

(iv) o7 G&IT21- 30 T WR 3H & & | 57 I941 & I 100 7155 & 3718 757
gl 1T |

(v) I97 G&I7 31 - 35 0% B: AJH & & | 37 Fo1 & I 150 V5] G 3715 731
g1 =3y |

(vi) 97 G&IT 30 THElF W TGNRT 397 & | 393 IR 3794 FR-GIeaarr 7
ferfaa |

General Instructions :
(i) All questions are compulsory.

(it)  Questions number 1- 10 are of 1 mark each. The answers to these
questions should not exceed 20 words each.

(iti) Questions number 11- 20 are of 2 marks each. The answers to these
questions should not exceed 40 words each.

(iv)  Questions number 21— 30 are of 4 marks each. The answers to these
questions should not exceed 100 words each.

(v) Questions number 31— 35 are of 6 marks each. The answers to these
questions should not exceed 150 words each.

(vi) Question number 30 is a map-based question. Write its answers in your
answer-book.

1. 289 (SAARC) % g 31 wreea T=dl % =l 1 Ieoi@ HIRT | 2><é=1
Mention the names of any two member-states of SAARC.
2. ‘gur < WA & = AT g 2 1

What is meant by the strategy of ‘hide’ ?

3. AU = # =i i e fhal Bt @ 2 3T it fohdat g
7?7 Lilog
2 2

How many judges are there in the International Court of Justice ? What
is their tenure ?
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ow 15 vatauce of power’ a component of traditional security ?

5. 9.4, "gaAifed W= 9fig o 2 1

What was P.C. Mahalanobis famous for ?
6. TG UNd % Yg W A § -1 ToHITdh o o ¢ fotieht g & &9
T 39 ? 1

Which political party emerged as the largest opposition party in the first
general election of free India ?

7. ‘FuE G = oot ? 1
What was ‘Congress Syndicate’ ?

8.  IME T AT & Torefl ek sy &1 3g@ il | 1
Mention any one finding of the Shah Commission of Inquiry.

9. TA-3MURG ATRlaHl § 1 AN g ? 1
What is meant by party-based movements ?

10. 9Rd % fhE & 1 1 981 HgT ST 8 2 1
Which region of India is referred to as ‘Seven Sisters’ ?

11. i Jg 1 afeam fafeaw | 2
Define Cold War.

12. e At & feohegl @ qfiom =1 3g@ i | 2x1=2
Mention any two consequences of Shock Therapy.

13. <% ¥ 9 &1 IS Tk U fafau | 2

State any one way to overcome hegemony.

14. ¥ (SAARC) 1 foqa &9 faRay | 366 &8 Bi 3§ TS 6 I Hl
3o HIfT | 1+1=2

Write the full form of SAARC. Mention the names of its two smallest
member-countries.

15. dfvaes qoHifa bl weieroi fa=arsti § § foregl a1 o1 ISR shifv | 2x1=2
Highlight any two environmental concerns of global politics.
16.  TacAdT o THT, WRA & TUE TS Sl g1 FHfal i 3g@ HIT | 2x1=2

Mention any two challenges faced by India at the time of independence.

Bogpse Visit www ncerhel p.com For 3AIl Vi deos Lectures of all Spbyects



Vi si Ve 0C %el)p com For Al NCERT Sol utions,
%;Mg‘@;ﬁ Sarrpl%%apers,% stion, papers, Notes For Class 6 t2o 12

land-reforms not successful in India ?

18.  g=fict <t =won e iR fehem wfoafea < 2 1+1=2
When and by whom was Panchsheel enunciated ?
19. 19853k 3THH GHEIIA 1 &1 GHOTH fhetl ? 2

What was the outcome of the Assam Accord of 1985 ?
20. YA TR i fhE HRAE d AP & Sad T Th a1 Tohe @I &l T ?
3IH TFR T W DIA-91 T TR 2 1+1=2

Which action of the Government of India threatened the fish workers’
lives in a big way ? Which organisation did they form at the national
level ?

21. ST % THATSA Fehe hi TR HINT | 4
Explain the Cuban Missile Crisis.

22. = fou U HA w1 emyEs stemE difve qur Fefafed s % oIw
ot - 2+2=4

(i) I8 HIeA cleaor TR § et agdm it fshan ®, WRA qem qifehed i
firehT & IR A T SITAT B 2

i @, &), O qun (S gr sifera AT @b % Al =N Tew-ew
fore smfera 2 | 39 A fafaw |
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1) What does the cartoon tell you about the role of India and Pakistan
in the process of regional cooperation in South Asia ?

(11))  The four chairs marked as , @, @ and @ are reserved for
the remaining four member-countries of SAARC. Write their
names.

e : HETfTRET F97 HacT gIFgIT Themdal & 1o7g, o7 G&37 22 & T WE |

Note: The following questions are for the BLIND CANDIDATES only, in
lieu of Question No. 22.

frafeTRad sl = I forfia 2+1+1=4
() & @@ & Ukl § WRA qon qifREa™ Wl HEwaqu el i
ST HIT |

(i)  ®Th (SAARC) &1 foqa &9 fafau |
(iii) ET¥T (SAFTA) %1 foega &9 fafaw |
Answer the following questions :

(1) Explain the significant role of India and Pakistan in the process of
regional cooperation.

(i1) Write the full form of SAARC.
(111))  Write the full form of SAFTA.
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lehegl <L HIYGSI T TUH HITTT | 4dx1=4

Describe any four proposed criteria for the next permanent as well as
non-permanent members of the Security Council in order to improve its
functioning.

Afgarer Trefaar fora TopR @A 1 FId & 2 === HIfVT | 4

How is global poverty a source of insecurity ? Explain.

I MATs AR SOl TS & 2w, [ IHR YA & - S b
WK 7, S fob T Arie § Goteht 91 3T 2 ST il | 4

How was the environmental agenda persued by global north different
from that of global south as was obvious at the Rio Summit ? Explain.

Jyatertor <1 aftamr AfSre | sueht forel @ fasiwarett @1 3g@ hIfve | 2+(2x1)=4

Define globalisation. Mention its any two characteristics.

FHSETE & IR HHYHE I1el o S a1 WRAE S99 3R Tad 9 o o
g gl IR T FHT | 2+2=4

Bring out any two differences each between the Socialist Party and the
Communist Party, as well as between the Bharatiya Jana Sangh and the
Swatantra Party.

T & gl = fifq-Feses fagratl St samen Sifse St =g i e
&I % S¢d ¥ Fefdd g | 4x1=4

Explain any four Directive Principles of State Policy related to promotion
of international peace and security.

1960 o 23k hl WdHTH 2k FT gl AdT & ? TF HIfSu | 4
Why were 1960s labelled as the ‘dangerous decade’ ? Explain.
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gl Gl 41 & | E@ﬁﬁﬁﬁﬁﬂﬁ% STYT YT ‘«IS'CHI('\-IQHQJT 3-<h
TE A, Y FEAT A1 HeTYUd AW Higd, 9 W gfeaen # fofae 4x1=4

() I8 US¥ 1979 9 1985 de ‘Taefim’ & favg 3H 91t AR &1 o
3G 2 |

(i) I8 US" T&Od9 YA 1 98 YA W AT g raviiies g9%h qdqiiier &
YR 9 1948 H 37W IATE 53T |

(ii) 98 UST gl TSl et 9o Aree o s 1986 § Wifd dHesiid
FEAeR fopu U |

(iv) 39 T3 1 fmior 1960 4 g3 |
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as &), B), (© and (D). Identify these with the help of information given

below and write their correct names in the answer-book along with their
mn ©

“A-' t

\,flj;‘ “‘—? ® 4

serial numbers and the alphabets concerned :

) The State is the best example of movements against the ‘outsiders’
from 1979 to 1985.

(ii)) The State is the first part of free India where general elections
were held in 1948 on the basis of universal adult franchise.

(iii)) The State where Rajiv Gandhi and Laldenga signed a peace accord
in 1986.

(iv)  The State was created in 1960.
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frefefaa weat @ sm fafen 4x1=4
(i) YA’ WRA 1 HH-81 TS 1979 § 1985 o TagRr & favg gF at
AT BT TTTH IS8T & 2

(i)  HE-AT TS, T3 WA 1 IgAT HFT AT S8l raiiies a9 qaieehi
T ITYUTRA AT A1 1948 H 31 2

(i) 1986 H, TS Ll T AT 6 s gY AT AWl H1 Gag FhH
TR ?

(iv) YaTX YRA 1 HIH-91 TsF 1960 H ST T 2

Answer the following questions :

(1) Which State of the North-East India is the best example of
movements against the ‘outsiders’ from 1979 — 1985 ?

(ii))  Which State was the first part of free India where general elections
on the basis of universal adult franchise were held in 1948 ?

(iii) Which State is related to the accord signed by Rajiv Gandhi and
Laldenga in 1986 ?

(iv)  Which State of the North-East was created in 1960 ?

31. U9 Hifowd @9 & foeed o foheal ©: HHehl S TWegur hife | 6x1=6
arera
“Te-fust STeiaH 18 AUTENTh B TR 7 |7 1 79 39 heH § TgHd © ?
3T IW b U § HIE fF ITYH b ST | 3x2=6

Examine any six factors which led to the disintegration of the former
Soviet Union.

OR

“Non-aligned Movement has become irrelevant today.” Do you agree with
this statement ? Give any three suitable arguments to support your

answer.
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chllafU | 3+3=6
AT

U |9 h TAOT R gs ? THhk ITMUH, TS, Felfaeh a1 die

ATl ST U I | 2+4=6

Explain the US hegemony as structural power, with the help of any two
suitable examples.

OR

Why was the European Union established ? Describe its economic,
political, diplomatic and military influences.

33. & shifa @1 off ? 3T fheal & TehRIcHe 3T T ThNIcHe RO i 3g@
HIfT | 242+2=6

3t
T QAT TR &l R 1 o1 | 38eh! yg@ foawricer = oft 2 35 fawri
! fopd TehR @T fopa T 2 2+4=6

What was the Green Revolution ? Mention any two positive and two
negative consequences of the Green Revolution.

OR

What was the task of the States Reorganisation Commission ? What was
its most salient recommendation ? How was the recommendation
materialised ?

34. 1970 % TV H WA <h! HHUTIRT T FEYTADT b s feheal di- foamar bl
e HIT | 3x2=6
AT
1970 % a1 o Y H, Y9 T sfeq el i TR 5T run o cArent

B ? 6

Explain any three controversies between the executive and the judiciary
of India in 1970s.

OR

What were the factors which led to the popularity of Prime Minister
Indira Gandhi’s Government in the early 1970s ?
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SN Wwﬁgmﬁwww%gﬁw
ﬁgﬁ?ﬁimmaﬂﬁw | 99 TIh doh ATd-3Td HigAT A oM
Torifaer gfafferea 6 a1d s o o | dfag™ & 734 3R 749 H9NEH %
SAdd Higenati sl TAF Uit e § streqo fear w8 | 39 sgaen
I Tl 61 faurmEnett qon gug § off @y e <t uin h S W@ R | Ee |
39 AW 1 T Fued fage ot 99 fohan S geht 7 | g fagee w1 on
Toh & U B T8l 8 IR g |

094 ¢
(i) W& TalaH o R 3kl g g&d Ail &= off ?
(i) YR G@fgg™ & 734 3 749 @MY & A=< Agarsti o o

ARG § I HH-8 T A9 TG ?
(iii) H9¢ ¥ W U Afgaedl & IRV e goiyd 99U A
a1 T e 2 i @ o fafau |
ST
fafafiga staaw =1 ufeu 3t 3ues = forg g1 & 39 AT 3x2=6

HUY FHl R o T UG <kl AT IIEAT ¥ IGhT colesl TcH al
T | 1960 % €h b AfdH AT H HUH o ThSA TN ol Al et of,
ifeRd $feU el < A9 H HUE 4 IR TSI T 3191 94 TR | e
fRaT | 7od o ¥k § HIUE i U BfEEd @ T SR R gEd el |
SEEIA $HHh HAAd I8 el @ foh hiId hl g His gal el I9@ &l TS |

HUE  GEGH % IcH h H1Y TgEaNd TEA-JUTE 1 T YT 83T |
Tz a1 fifeaa & 8 76 3100 < # e wifdar gAe asd] % & | B §9e |
THI S Tl % @HE @ & | 1989 % &1E Uh % I @ H A | 3
uTféat 38 ag 3wl fob forelt weh-gl arel =i & sifenry dre A Hie 78 i U
I | 3EH HAqd I8 |l g3 o 1989 % &G AlREHT % @l W Hwt off foreht
T 1l I QU IgHd T8l el | 39 SGed % | hg H TSaUT TR hl SR
& BT IR & Il o TS ThR S | Hgwaqul fHent FarRf |

U9 :

(i) o9 % TH H HIUF b MUY hl AN hl ToRl H HH-E T
foeht 2

(i) & Wil 3 g ° Mo TR S H 9T fyent g 2

(if) TeEYH o TC T H gl q Ig@ TSI Sl 1 3@ hif |
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... .. the women’s movement gradually shifted from legal

reforms to open social confrontations. The movement made demands of

equal representation to women in politics during the nineties. 734 and

74" amendments have granted reservations to women in local level

political offices. Demands for extending similar reservations in State and

Central legislatures have also been made. A Constitution Amendment

Bill to this effect has been proposed but has not received enough support
from the Parliament yet.

Questions :
(1) During the women’s movement, which were their two main
demands ?

(i1))  According to the 73" and 74" amendments of the Indian
Constitution, by granting reservations to women, in which two
ways have they been benefitted ?

(iii) Why could the Constitution Amendment Bill regarding the
reservation to the women not get enough support ? Mention any
two reasons.

OR

Study the passage given below and answer the questions that follow :

The defeat of the Congress party marked the end of Congress
dominance over the Indian party system. Way back in the late sixties, the
dominance of the Congress party was challenged; but the Congress under
the leadership of Indira Gandhi, managed to re-establish its predominant
position in politics. The nineties saw yet another challenge to the
predominant position of the Congress. It did not, however, mean the
emergence of any other single party to fill in its place.

Thus, began an era of multi-party system. To be sure, a large
number of political parties always contested elections in our country. Our
Parliament always had representatives from several political parties.
What happened after 1989 was the emergence of several parties in such a
way that one or two parties did not get most of the votes or seats. This
also meant that no single party secured a clear majority of seats in any
Lok Sabha election held since 1989. This development initiated an era of
coalition governments at the Centre, in which regional parties played a
crucial role in forming ruling alliances.

Questions :

1) In the nineties, what did people see as a challenge to the
predominant position of the Congress ?

(ii))  What crucial role did the regional parties play in forming coalition
governments at the Centre ?

(iii) Mention any two political changes during the new era of coalition
governments.
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